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Note mpt any five questions. Al questions carry equal marks.

1. Determine dual of the
s
Minimize dv + v + 22
Subject to (D 3x + 2y + 2 > 11
lx4+y+225

iy + 3y + 27 > 12

followi ; .
g Linear Programme. Determine optimal value of x, y and

IMax Marks 90

avix, v,z 20, 515

2. A manufacturing firm produces Tables and Chairs. Each table needs 3 hours of welding.
1 hr of cutting and 5 hours of finishing. Where as each Chair nceds one hour on welding,
one hour on finishing, and 2 hrs on cutting. The firm operates single shift (8 hrs) and 25
days a month. The firm have one welding, one cutting and 2 finishing machines

If the firm earns Rs. 1,000 on cach table and Rs. 700 on each chair, determine optimal
product mix.

3. (a) A comapany have 5 opcrators to work on 6 terminals. Operator ‘C’ can not work on
terminal T,. The profit matrix is given below. Assign the jobs optimally :

T, T, T, T, Ty Ts
A 3000 41000 2000 4000 2000 5000
B 6000 6000 5000 3000 4000 5000
C 7000 5000 3000 8000 5000 6000
D 10000 7000 9000 6000 8000 8000
E 8000 5000 4000 5000 6000 5000

(b) Explain the term ‘degenerdcy’ as used in Transportation Model.

4. Amit have 4 warchouses 1n Mumbai, Indore, Delhi and Ahmedabad. He has to aupp'ly

al to 3 locations, of Pune, Bhopal and Vadodra. The cost matrix is given below.

materi d Vi
Determine feasible solution and test for optimality :

Pune Bhopal Vadodra AN

T ——— T T T T

Mumbai .10 16 7 300
Indore L12 7 5 300
Delhi 6 12 8 300
Ahmedabad 18 w 12 300
Demand 300 600 | 300

(a) Solve the following game for player ‘A’ :
B

I 111 v

1
I 2 3 -1 4
Al 4 1 6 '6:3
m 5 4 o2

et

(b) Describe following terms :

(i) Saddle Point (ii) Zero Sum Game (i#1) Dominance Rule.

P.

DAVVonline.com DAVVonline.com

18

14

18

12

8
T. Q.

WO IUHUOA AV

WO IUIUOA AV



WO IUHUOA AV

WO AUIUOAAVA

DAVVonline.com DPAVVonline.com

- 2 HV-65¢
shedule of machine costing Ra. 10,00,000 if Cost of

2 3 4 5

| 000 1,00,000 2,00,0600 3,00,000 400000
;00,000  6,00,000 500,000 350,000 2,50.006 )

ey for ‘Diminishing Value’ and Sudden F ailure’

for following network
d

Bx3=11
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